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Analytical Methods in Engineering (EE300) Major -2 3 DEC 2005

1) Draw the diagraph whose adjacency
matrix is given below.
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2)a)Calculate fzg in the following network.
b)Write all flow augmenting paths in the
network.

¢)Obtain maximum flow on path 1-6-5-8
d)Obtain maximum flow on path 1-2-7-8
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3)Find the shortest spanning tree for the
following graph (Use Krustal Algorithm)

4) Using Dijkstra's Algorithm Calculate the
shortest paths from vertex 4 to all other
vertices. (Use Dijkstra's Algorithm.)
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5)It is given that ab,cdare real numbers.
(a,b,c,d may be negative or positive).
<(atbi)=20", <(c+di)=220".

Calculate the angle of the following numbers.
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6)a,b are real numbers, and <(atb1)=3 00°
State true or false

a) | e >1 True
by | e =1 Lalse
o)le"™ <1 __Falsc

(write explanation if necessary)

7)cosh(z)=0.5. calculate z. (zisa complex
number)
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8)Calculate a)v/-i  b)i T
(Hint for parta, use z’=-1)
(use principle value, if you use logarithm)
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